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SN HE SR (3) - MRAY - BAS Aboy X o s
OEXIHELAIR TRIEf AREDQ
200,0002 * 167 3,200 3,200
olg ¥ I 2,400 2,400
OFSUCTIMLAIY =8 S|
5,0002 * 491 x 152 + 8% 2,400 2,400
202 01t 3,200 3,200
01 2Uoi| 3,200 0 3,200
OFSSRML A =2 0|
20,0008 * 421 * 52 * 8% 3,200 0 3,200
AEHH AMsl 56,525 0 56,505
201 2Br2 | 11,300 0 11,300
01 ArR2telt] 11,300 0 11,300
Olgs+gY] 2,000 0 2,000
OSH =28 LRTRIE 428 29
250,0002 * 8H 2,000 0 2,000
Olxte - etyl] 9,300 9,300
oges ¢ S
1,5002 * 204 * 2502 7,500 7,500
OUREXNY SAH U IBADE 7
150,002 * 12)H2 1,800 0 1,800
405 Xt&HE S| 45,225 0 45,225
01 XAUSEHSY| 45,225 0 45,225
ogeE g 7 40,000,008 * 14! 40,000 0 40,000
ONBTY XY 248
40,000,008 * 0.5% 200 200
OF £218 A3 ZotIRIEH 7Y
4,000,008 * 14! 4,000 4,000
OEo 28 A3 ZolDalH 7Y g4
sz 4,000,0002 * 0.5% 20 20
OgeE I P 1,000,008 * 14! 1,000 1,000
OYRE St 7Y X2 £42
,000,0008 * 0.5% 5 5




